VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

Repeater

PROGRAMME: Bachelor of Arts in Multimedia and Mass Communication (BAMMC)

EXAMINATION: February - 2025

SEMESTER: I

C., I		1					IVIII 47	TIOI	1.10		SEMESTER: I									
Sr. No.	Roll No.	Seat No.	Name	Effective Communicat ion - I				Communicati		Fundamenta ti Is of Mass Communicat		Affairs		History of Media		Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA	SEE 30/75		SEE		SEE	IA	SEE	IA	SEE		SEE			10		
		FD14140000					30/75	10/25	30/75	10/25	30/75	10/25	30/75	10/25	30/75					
_1	4	FBMM23009	/ DUSAMUDI MAMTA MALLESH NURSA	\$19	\$30	\$19	\$30	\$17	\$30	\$15	\$30	\$21	\$41	\$20	31	303	115	20.0	5.75	С
2	10	FBMM23017	KAPDI PANKAJ BHARAT MONGIBEN	\$21	31	\$16	\$30	\$15	\$30	\$18	\$30	\$25	\$30	\$20	\$30	296	114	20.0	5.70	С

BBanclebas

I/c. PRINCIPAL

Valia C.L. College of Commerce & Valia L.C. College of Arts, Andheri (W), Mumbar-465 953.

VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

Repeater

PROGRAMME: Bachelor of Arts in Multimedia and Mass Communication (BAMMC)

EXAMINATION: February - 2025

Bachelor of Atts in Multimedia and Wass Communication (BANIME								MC) EXAMINATION: February - 2025											SEMESTER: II			
Sr. No.	Roll No.	Seat No.	No. Name					t Course – II		Introduction To Advertising		То		Gender &		Total Marks		Credits Earned	SGPA	Grade		
																Marks						
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE					1		
				10/25	30/75	10/25	30/75	10/25	30/75	10/25	30/75	10/25	30/75	10/25	30/75							
1	17	FBMM21019	MAHADIK OMKAR RAVINDRA RUCHITA	\$19	\$34	\$19	\$32	\$20	\$34	10	\$30	\$12	\$31	10	\$30	281	98	20.0	4.90	D		
2	27	FBMM22037	SINGH KESHAV JAGJEET REKHA	\$10	\$30	\$12	\$30	\$10	36	\$10	\$30	\$10	\$30	\$10	\$30	248	82	20.0	4.10	D		
3	4	FBMM23009	/ DUSAMUDI MAMTA MALLESH NURSA	\$20	\$36	\$12	\$30	\$11	30	\$19	\$30	\$23	\$38	\$14	\$30	293	112	20.0	5.60	С		

Blanclekar

I/c. PRINCIPAL

Valia C.L. College of Commerce & Valia L.C. College of Arts, Andheri (W), Mumbai-400 05a

VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

EXAMINATION: February - 2025

Repeater

SEMESTER: III

Sr. Roll No.		Seat No.	Name		Media Studies		Theatre & Mass		Corporate Communicati				n Film Communicat		puters &	Total Marks	Sum	Credits Earned	00	Grade
			3			Communicat		on & Public		Photography		11 17		Multimedia		Marks		Lamed		
		-		IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	1A 10/25	SEE 30/75		SEE 30/75		SEE	IA 10/25	SEE 30/75					
1	36	SBMM22016	MAHADIK OMKAR RAVINDRA RUCHITA	\$10	\$30	\$11	\$43	\$20	\$30	\$14	\$30	10/23 AB	\$33	\$11	\$31	263	76	16.0		F
2	4	SBMM23004	DHAKOLIA ROHIT AMIT DIMPLE	\$19	\$34	\$12	\$34	\$14	\$33	\$12	30	\$11	\$38	\$21	\$33	291	102	20.0	5.10	С
3	1	SBMM24002	BK PRAKASH RATAN SHOVA	\$15	\$30	\$17	\$30	\$17	\$30	\$17	30	\$17	16	\$21	AB	240	70	14.0		F
4	2	SBMM24003	/ CHIKHALE ANUSHKA ARJUN SHEETAL	\$19	\$45	\$19	\$48	\$18	\$42	\$15	32	\$16	\$30	\$19	\$33	336	132	20.0	6.60	В
5	4	SBMM24005	/ DEVENDRA MUSKAN ANIL PAPU	\$15	\$48	\$16	\$57	\$16	\$54	\$10	15	\$10	\$30	\$24	34	329	116	16.0		F
6	6	SBMM24007	/ DUSAMUDI MAMTA MALLESH NURSA	\$17	\$30	\$20	\$42	\$21	\$30	\$15	17	\$13	\$30	\$24	39	298	92	16.0		F
7	11	SBMM24011	KADUSKAR ANIRUDH SANTOSH KAVITA	\$17	\$46	\$20	\$44	\$20	\$37	\$11	30	\$14	\$31	\$19	\$33	322	124	20.0	6.20	В
8	12	SBMM24012	KAMBLE SAURABH SANJAY SARIKA	\$16	\$30	\$19	\$30	\$19	30	\$18	\$33	\$17	\$30	\$19	\$30	291	104	20.0	5.20	С
9	29	SBMM24013	KAPDI PANKAJ BHARAT MONGIBEN	\$16	33	\$18	\$34	\$17	\$40	\$10	30	\$14	\$30	\$19	\$32	293	104	20.0	5.20	С
10	30	SBMM24016	/ MAHALUNGE ARPITA MAHENDRA MOHINI	\$17	\$45	10	\$39	10	\$30	\$15	39	\$18	\$36	\$22	\$48	329	124	20.0	6.20	В
11	15	SBMM24017	MOHITE ARYAN SANJAY NANDA	\$18	\$32	\$20	\$34	\$22	\$34	\$14	46	\$20	\$40	\$21	\$39	340	144	20.0	7.20	B+

\$16

\$10

\$30

\$60

\$19

\$10

\$30

\$51

\$19

\$10

\$30

\$42

\$11

\$10

30

33

\$14

\$10

\$30

\$31

\$19

\$10

\$30

\$50

278

327

92

124

20.0

20.0

4.60

6.20

D

В

BBanclekas

SBMM24019

SBMM24032

PROGRAMME: Bachelor of Arts in Multimedia and Mass Communication (BAMMC)

PANMAND KARAN KANTARAM ASHA

RAVARIYA CHINTAN RAMESH RAJIBEN

I/c. PRINCIPAL

Valia C.L. College of Commerce & Valia L.C. College of Arts, Andheri (W), Mumbai-400 053

17

18

12

13

VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

Repeater

PROGRAMME: Bachelor of Arts in Multimedia and Mass Communication (BAMMC)

EXAMINATION: March - 2025

SEMESTER: IV

Sr. No.	Roll No.	Seat No.	Name	Editing for		Theatre and Mass Communicat		and Ethics				a Film Communica ion-II		Computers t and Multimedia-l		Marks	Sum CG	Credits Earned	SGPA	Grade
				IA 10/25	SEE 30/75		SEE 30/75		SEE	1A	SEE		SEE		SEE 30/75					
1	4	SBMM23004	DHAKOLIA ROHIT AMIT DIMPLE	\$17	\$51	\$12	\$30	\$20	\$30	\$18	AB	\$11	\$39	\$16		285	102	16.0		F
2	14	SBMM23006	/ HANDGAR SWAPNALI YOGESH JYOTI	\$20	\$45	\$15	\$30	\$20	\$32	\$19	AB	\$11	\$44	\$17	AB	253	94	14.0		F

BBanclekas

I/c. PRINCIPAL

Valia C.L. College of Commerce & Valia L.C. College of Arts, Andheri (W), Mumbai-400 053.